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1. Introduction

In this paper, we are concerned with the third order delay difference equation with several neutral terms of the form
A(a(n)A(b(n)z(n))) + ¢(n)z*(n —k) =0, n>mno >0 (1)

where z(n) = z(n) + 3 pi(n)x(n — £;), m is a positive integer and we assume that
=1

(Hy) {a(n)}, {b(n)}, {pi(n)} and g(n) are positive real sequences with 0 < p;(n) <p; <ocofori=1, 2, ..., m;
(Hz) ¢; and k are positive integers for ¢ =1, 2, ..., m and « is a ratio of odd positive integers.
Let 8 = max{¢1, 2, . .., €m, k}. By a solution of equation (1), we mean a real sequence {z(n)} defined for n > ng — 6

and satisfies equation (1) for all n > ng. We consider only those solutions {z(n)} of equation (1) which satisfy sup{|z(n)] :
n > N} > 0 for all n > N, and assume that the equation (1) possesses such solutions. A solution of equation (1) is called
oscillatory if it is neither eventually positive nor eventually negative; otherwise it is called nonoscillatory. Equation (1) is
said to be almost oscillatory if all its solutions are oscillatory or convergent to zero asymptotically. Recently, great attention
has been devoted to the oscillation problem of third order difference equations, see for example [1, 3-5, 7, 9-14], and the
references cited therein. In the following, we present some background details that motive our study. In [4], the authors

considered the equation

A (e(n)A(d(n)Az(n))) + q(n) f(z(n —o+1)) =0 (2)
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and investigated the oscillatory and asymptotic behavior of solutions of equation (2). In [3], the authors considered the
equation
A (e(n)(A%2(n)*) + g(n) f(z(o(n))) =0 ®3)
S 1

and studied the oscillatory behavior of equation (3) under the condition Y, ——— < oo. In [9], the authors considered the

n=ng ¢ (n)

following equation

A (e(n)A (d(n)A(xz(n) + p(n)z(n — k)))) + q(n) f(x(n —m)) = 0 (4)
and established criteria for the oscillation of all solutions of equation (4) under the condition ) C(ln) = > %M =o0.In
n=ng n=ng

[11], the authors considered the equation
A (a(n) (A%((0) + p(n)z(n - 8)))") +a(n)z”(n —7) =0 (5)

and derived several criteria for the almost oscillation of equation (5). Motivated be the above observation, in this paper we

shall further the investigation of the oscillation behavior of solutions of equation (1) under the following two cases:

=1 =1
2o T Lo ™ (©)
and
=1 =1
n;() a) < 00, n;g b0 = 0. (7

The results obtained here reduced to those presented in [9, 11] for the particular case m = 1. In Section 2, we obtain some
sufficient conditions for the almost oscillatory of equation (1) and in Section 3 we provide some examples to illustrate the

main results.

2. Oscillation Results

In this section, we obtain some new oscillation criteria for the equation (1). We begin with a useful lemma which will be
used later. Without loss of generality, we can deal only with the positive solutions of equation (1) since the proof for the

opposite case is similar.

Lemma 2.1. Assume thaty, >0 fori=1, 2, ..., m. Then

[e3

(a). X yi' > ﬁ (Z yi) fora>1;
i=1 i=1

(b). iy;"z <§3yz> for0<a<1.
=1 i=1

Proof.  The proof is similar to that of in [11] and hence the details are omitted. O

Theorem 2.2. Assume that (6) holds and oo > 1. If

;mg@;q(ﬂ:m (8)

and the first order difference inequality

A (y(n) + Zp?y(n - &)) + %y“(n —k)<0 9)

s—1
n1 2 aln
where Q(n) = min{q(n), gin—4£), ..., g(n —€m)} and B(n) = Y. % for m > na > n1, has no positive decreasing
s=no
solution, then equation (1) is almost oscillatory.
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Proof.  Assume that {z(n)} is a positive solution of equation (1). Based on the condition (6) there exist two possible

cases:
(D) z(n) >0, Az(n) >0, A(b(n)Az(n)) >0, A(a(n)A(b(n)Az(n))) <0,
(1) z(n) >0, Az(n) <0, A(b(n)Az(n)) >0, A(a(n)A(b(n)Az(n))) <0,

for n > n1 where n; is large enough. Assume that Case (I) holds. From equation (1), we have
Zp?A(a(n—&-)A(b( —4)Az(n —¢;) +Zp, n—4L4)x(n—4; —k)=0

Combining (1) and (10), we obtain

A(a(n)A(b(n)Az(n))) + ZP?A (a(n — L)A(b(n — £:)Az(n — £:))) + Q(n) (ivfik + Zp?leik) <0.

i=1

Using Lemma 2.1(a), we get
Aa(n)A(b(n)Az(n))) + Zp?A (a(n —€)A(b(n — L) Az(n — £:))) + L)a_lzf{_k <0.

Now

b(n)Az(n) > i M a(n)A(b(n)Az(n i (L

s=nq

we have that

Thus, we have

B
2
I
R
3
&
+

\Y
S
2
g
I
z

(]

where we have used (14). From (13) and (15), we obtain
z(n) > B(n)a(n)A(b(n)Az(n)).
Let y(n) = a(n)A(b(n)Az(n)) > 0 be decreasing and from (12) and (16), we see that
A <y<n> DI &-)) + =Dy <0

Hence {y(n)} is a positive decreasing solution of (9), which is a contradiction.

Case (II) Assume that Case (II) holds. Since z(n) > 0 and Az(n) < 0, we have lim,o 2(n) = L > 0.

(10)

(11)

(12)

(13)

(14)

(15)

(16)

(17)

IfL >0
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then lim, o0 (m(n) + > pin)z(n — k')) = L or limp e x(n) = L1 < L. Then there exists no > n1 > ng such that
i=1

Ly < z(n) < L1 + € for n > na. Hence from equation (1), we have
A (a(n)A(b(n)Az(n))) < —Lig(n), n > na. (18)

Summing (18) from n > ns to co and using the fact that a(n)A(b(n)Az(n)) is positive and decreasing, we obtain

Summing again gives

and a finial summation yields
2(n2) > Lt ) ) > a0 > _alt).

This contradicts (8) and shows that L = 0, that is, z(n) — 0. Since z(n) > z(n) > 0, we have z(n) — 0 as n — oco. This

completes the proof of theorem. O

Theorem 2.3. Assume that (6) holds and o > 1. Let £ = max{¢1, . .., lm} with ¢ < k. If (8) holds and the first order

difference inequality

Qun)B=(n — k)
m+ 1ot (14 22

i=1

Aw(n) + swi(n+£—k)<0 (19)

has no positive decreasing solution, then equation (1) is almost oscillatory.
Proof.  Proceeding as in the proof of Theorem 2.2, wee see that {z(n)} satisfies Case (I) and Case (II) for all n > ni. Let
Case (I) holds. Then as in the proof of Case (I) of Theorem 2.2, we obtain (17). We now define

w(n) =y(n) + pr‘y(n —4;).

Then w(n) > 0 and in view of £ = max{¢1, ..., £n}, we have

w(n) < <1 +Zp?> y(n—10).

Substituting the last inequality into (17), we see that {w(n)} is a positive decreasing solution of inequality (19) which is a

contradiction. The proof for the Case (II) is similar to that of Case (II) of Theorem 2.2. Now the proof is complete. O

Remark 2.4. Theorem 2.2 complements to that of in [11] when m = 1. Theorem 2.3 extends some results in [9] in the case

m=1and a = 1.

Next, by adding additional assumption on «, one can derive explicit oscillation criteria for the equation (1) from Theorem

2.3.

Corollary 2.5. In addition to assumption of Theorem 2.3, let o = 1. If
n—1 m kg kot
s=n—k+4~ =1
then equation (1) is almost oscillatory.

216



S. Mehar Banu, S. Nalini and R. Arul

Proof. By Theorem 2 of [6], assumption (20) ensure that the inequality (19) has no positive solutions. The conclusion

now follows from Theorem 2.3. O

Corollary 2.6. In addition to assumptions of Theorem 2.3, let a > 1. If there exists a A\ > ﬁlna such that

lim inf [Q(n)Ba (n— k)exp(fe)‘n)] >0 (21)

n—oo
then equation (1) is almost oscillatory.

Proof. By Theorem 2 of [8], condition (21) ensures that the inequality (19) has no positive solutions. The conclusion now
follows from Theorem 2.3. O
Next, we turn our attention to the case 0 < a < 1.

Theorem 2.7. Assume that (6) holds and 0 < oo < 1. If (8) holds and the first order difference inequality

< +Zp1 n— '>+Q() “(n—k)y*(n—k) <0 (22)

has no positive decreasing solution, then equation (1) is almost oscillatory.

Proof.  The proof is exactly same as that of Theorem 2.2 except by using Lemma 2.1(b) instead Lemma 2.1(a). Hence the

details are omitted. O

Theorem 2.8. Assume that (6) holds and 0 < o < 1. Let £ = max{l1, . .., €m} with £ < k. If (8) holds and the first
order difference inequality

Aw(n) + Mm(nwfk) <0 (23)

(1 + > pf‘)
=1

has no positive decreasing solution, then equation (1) is almost oscillatory.

Proof. The proof is similar to that of Theorem 2.3 and hence the details are omitted. O

Corollary 2.9. In addition to assumption of Theorem 2.8, let
ZQ YB*(n — k) = . (24)
n=ng

Then equation (1) is almost oscillatory.

Proof. By Theorem 1 of [8], the condition (24) ensure that the difference inequality (23) has no positive solution. The

results now follows from Theorem 2.8. O

In the following result we assume that condition (7) holds and 0 < > p;(n) < 1 for all n > ng, and o = 1.
i=1

Theorem 2.10. Assume that condition (7) holds, 0 < > pi(n) < 1 and o = 1. If condition (8) holds and

=1

2 Jur (1‘21’1”‘ )257;’@) = o0 (25)
n=nq Z 1

and

pae | 1
2 5 dasE | = (26)

t=n,

nl;rrgosup2|: (1—2;915— )

s=no

then equation (1) is almost oscillatory.
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Proof.  Assume that {z(n)} is a positive solution of equation (1). Based on the condition (7), there exist three possible
Cases (I), (II) (as in Theorem 2.2), and

Case (IIT) z(n) > 0, Az(n) > 0, A(b(n)Az(n)) > 0, A (a(n)A(b(n)Az(n))) < 0 for all n > ny, n; is large enough. Assume
that Case (I) holds. Define

w(n) = , n>mni. (27)

Then w(n) > 0 for n > ni. Using Az(n) > 0, we have

z(n) > (1 - Zpi(n)> z(n). (28)

Since
b(n)Az(n) > a(n)A(b(n)Az(n)) ﬁ (29)
we have
I RLOELON P (30)
2w
Thus, we get
z(n) > b:i)lAZ(n)B(n), n>ng >ni. (31)
Z
From (27), we obtain
_ A(a(n)AB(n)Az(n))  a(n+ DA+ 1)Az(n + 1)) DA (n
Aw(n) = b(n)Az(n) b+ DAz(n + 1)b(n)da(n) - LWAM)
) (1= E o= stn -1
s - b(n)Az(n) (32)
From (31) we have
sn—k) > 2P ;"j}ﬁz(” =5 B — k) > b(:L_)IAZ(") B(n — k) (33)
ezznl a(ls) sgl a(ls)

Summing the last inequality from ns to n, we obtain

n

S Jats) (1 - mils- k)) BB < wina) < o0
s=ng i=1 Z ﬁ

s=nq

which contradicts. Assume Case (II) holds. Then as in the proof of Theorem 2.2(Case II)) we see that lim, . z(n) = 0.

Assume that Case (IIT) holds. Since a(n)A(b(n)Az(n)) is negative decreasing, we have

a(s)A(b(s)Az(s)) < a(n)A(b(n)Az(n)), s >n >mni. (34)
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Dividing the last inequality by a(s) and then summing it from n to £ — 1, we obtain

—1
b(£)Az(¢) < b(n)Az(n) + a(n)A(b(n)Az(n)) D o)
Letting £ — oo, we get
0 < b(n)Az(n) + a(n)A(b(n)Az(n) > ﬁ
that is, -
a(n)A n)Az ad 1
b(n) 52:;1 a(s) st
Define

o) = AMAGM)Am)

> .
b(n)Azn) =™
Then v(n) < 0 for n > n1 and by (35) and (36), we obtain

—d(n)v(n) < 1.

From (36), we have

Av(n) = Aa(n)A(b(n)Az(n)))  a(n+ DHAbMN + 1)Az(n + 1))A(b(n)Az(n))
b(n)Az(n)

b(n+ 1)Az(n+ 1)b(n)Az(n)
Using Az(n) > 0, we have (28). From equation (1) and (38), we have

Av(n) < —

n) <1 3 Zpi(n B k:)> bz(n —k) v*(n)

n)Az(n)  a(n)’ (39)
where we have used a(n)A(b(n)Az(n)) is negative and decreasing and b(n)Az(n) is positive and decreasing. Also
n—1 1
A — 4
(n) > b(n)Az(n) 25 (40)
and hence
AlZm Lo
n—1 b(S)
>
s=nq
which implies that
n—k—1
1
z(n — k) s;l 5s) (a1)
z(n) ol
_2: b(s)
s=nj
y (39), (40) and (41), we obtain

. n—k—1 2
Av(n) < —q(n) <1_Zpi(n_k)> ﬁ_ %‘

Multiplying the last inequality §(n) and then summing it from ns to n

— 1, we have

(n2) +Z<§ (1—Zpi(s— ) Z bi i

which on completing the square yields

n-l m s—k—1
S [5(5>q<5) (1 —st_k)) > ﬁ B %

when using (37), which contradicts (26). This completes the proof.

d(n)v(n) — d(n2)v

+Za 5“)

s=ng
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3. Examples

In this section, we present some examples to illustrate the main results.

Example 3.1. Consider the third order neutral delay difference equation

A <nA2 (;B(n) + %w(n —1) 4 22(n — 2))) + 2(n—3)=0, n>1 (42)

1
(n+1)

Here a(n) =n, b(n) =1, pi(n) =1, pa(n) =2, {1 =1, lo =2, q(n) = ﬁ, k=3 and a = 1. The condition (6) clearly

satisfied and condition (8) becomnes

(oo}

W | =

=1
Z(zt+1) -

t=s n=1s=n t=s

1 oo 1 oo o0 oo
WZWS)ZQU):ZZ

n=1 s=n
Further the condition (20) becornes
t—

n—1 1 s—1 11 n—1 s—9 7
Jiminf 3 s+1;<;u>>n@;omf 2 i

s=n—1 s=n—1

Hence all conditions of Corollary 2.5 are satisfied and so the equation (42) is almost oscillatory.

Example 3.2. Consider the third order neutral delay difference equation

A (%AQ (yc(n) + %x(n 1)t aln— 2))) + ﬁx%(n —3)=0, n>1. (43)

Herea(n) =1, b(n) =1, pi(n) =%, p2(n) =1, t1 =1, lo =2, q(n) = ﬁ7 k=3 and o = %. It is easy to see that all

conditions of Corollary 2.9 are satisfied and so the equation (43) is almost oscillatory.

Example 3.3. Consider the third order neutral delay difference equation

A (n2A2 (x(n) + ix(n —1)+ %x(n - 2))) +nz(n—3)=0, n>1. (44)

Here a(n) =n®, b(n) =1, pi(n) = %, p2(n) = 3, 4 =1, £o =2, g(n) =n, k=3 and a = 1. It is easy to see that all

conditions of Theorem 2.10 are satisfied and hence equation (44) is almost oscillatory.
We conclude this paper with the following remark.

Remark 3.4. In this paper, we have established some new oscillation theorems for the equation (1) by reducing to the
oscillation of first order delay difference equation. The obtained results complement and generalize some of the results in

[3-5, 7, 9-14].
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